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Pre-Algebra Name

Period

How Could Goldilocks and The Big
Bad Wolf Be in the Same House?

Assignment Datedri. o @050

Evaluate each expression.

Find each answer in the answer columns. Write the letter
of the answer in the box containing the problem number.

1) (-6.3)-0.6 2) (~6.2)+3.8

Simplify.
3 e =l =2 1 7
1. 2 = 2. & + & 35— =
g 5 4 P . o Find each difference.
ranawers answers :
3 1 .5 , 4 L i) s 910409 3) 7.7 -(-5.1) = (-05) 4) 39-23-57
&.l\._.lm w.®+m m.lw.?:w =
A -lig 10
- B -8 i 2 3 -47
7. -2+ % R 9. % 4 =5
8 9 g 8 L 100 U |& S IwIHm Find each sum.
7 3 B L .7 7 AT 5) (-5.577)+33 6) (=6.3) +(-5.6)
10. -5 + § T 5~ 12.£ +5 %1w ﬁua::
, 13 ) 16
98, Lo T T SR T e T Big [0-33
Bz m Tl e 8 Al 16 ¥ = 7) (-0.1) +(=7.63) + 4.4 8) (~4)+6.5+62
Salve, 1 15 T 16
16. A triangular course for w canoe race is marked A:,E D 2 A
5. The fir; is -~ mi 5 is = mi 5 e
buoys. The first leg mw 75 i, the second leg is 5 mi, Find cahi produt,
and the third leg is £ mi. How long is the race? 17 15
0 ~100 U 16 9) (-2.3)(3.3) ; 10) (~4.4)(4)
17. Janis jogs around a rectangular park that is 3 mi i -
1 ) P-1g fHig
long and 3 mi wide. How far is it around the park?
O-1 [Sitmi M) bad T 2.0 2)=0.9+2.7+36
18. Rimshot bought two equal-sized pizzas. He cut the
first one into 8 equal pieces and ate three of them. N Z I 13
Then he cut the other pizza into 6 equal pieces and 24 33
ate one of them. What fraction of a whole pizza did
he eat altogether? W le@ R wwu Find each quotient.
13) -3 +-2.926 . 14) -8.8+9.68
19. Karina bought a pizza that was cut into 8 equal T w,,w A IHM
pieces. She ate half of one piece. What fraction of
the whole pizza did she eat? g1 I3
%5 4
;v ;lllu.h 16) cq\
14| 8 17|11 (3 | 7 |19 5 |13|16(1 [9 |18 4 |12| 2 [15]10| 6 -0.74 4.7
Fractions: _“,

PUNGHLINE ¢ Brid gebra
Addition and Subtraction of Unlike Fractions
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